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Guess Paper – 2009

Class – X

Subject – Mathematics  
SECTION – A

Q.1
The LCM of two numbers is 2079 and their HCF is 27. If one of the number is 297, find the other number.

Q.2
If the sum of the zeros of quadratic polynomial x2 + kx + 5 is 7, then find the value of k.

Q.3
Examine the nature of the roots (without solving) 
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Q.4
Find the common difference of  
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Q.5
If 
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Q.6
What is the ratio of the area of a circle and an equilateral triangle whose diameter and side are respectively equal ?

Q.7
The probability of an event always lies between _______________

Q.8
Find the area of triangle whose coordinates are (2,-3), (2,6),(2,-5)

Q.9
An aero plane leaves an airport and flies due North at a speed of 1000 km/h. At the same time , another plane leaves the same airport and flies due west at a speed of 1200 km/h. How far apart will be the two planes after 1½ hours?

Q.10
Two concentric circles are of radii 5 cm and 3 cm. What is the length of the chord of the bigger circle which touches the smaller circle?

SECTION – B

Q.11
Find a quadratic polynomial whose zeros are  
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Q.12
Evaluate   
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Q.13
Find the point on x – axis which is equidistant from (2,-5) and (-2,9).

Q.14
Cards marked with numbers 5 to 50 are placed in a box and mixed thoroughly. A card is drawn from the box at random. Find the probability that the number on the taken card is (i) a prime number less than 20.  (ii) a number which is  aperfect square.

Q.15
Prove that the parallelogram circumscribing a circle is a rhombus.

SECTION – C

Q.16
Prove that 
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OR


111 cows, 185 sheep and 296 goats are to be taken a across a river. There is only one boat and the boatman says he will take same number and the same kind of animals in each trip. Find the largest number of animals in each trip and the number of trips he will make. 

Q.17
Obtain all zeros of  2x4 - 9x3 + 5x2 + 3x – 1 if two of its zeros are 
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Q.18
Solve  
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Q.19
Find three numbers in A.P. such that their sum is 54 and product of two extremes is 275. Find the numbers.

OR

If the sum of m terms of A.P. is equal to sum of n terms than prove that sum of m + n terms of A.P. is zero.

Q.20
If 
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OR


Prove 
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Q.21
Find the value of k so that the points A(-5,1), B(1,k) and C(4,-2) are collinear. Also find the ratio in which B divides AC.

Q.22
Find the ratio in which the join of points (1,2) , (-2,3) is divided by the line    3x + 4y = 7. Also find the coordinates of the point.

Q.23
The perpendicular AD on the base BC of a ΔABC intersects BC at D so that DB = 3CD. Prove that    2(AB)2 = 2(AC)2 + (BC)2. 

Q.24
Construct a triangle with sides 4 cm, 5 cm and 7 cm. Then construct a triangle similar to given triangle such that each side of the new triangle is ⅔ of given triangle.

Q.25
In the figure given alongside, ABC is a right angled triangle, angle A = 90o. Semi-circles are drawn with diameter AB = 4cm, AC = 3 cm and BC. Find the area of semi – circles with diameter AB and AC which is not included in semi-circle with BC as diameter.

SECTION – D

Q.26
In a class test, the sum of Kanika’s marks in Mathematics and English is 40. Had she got 3 marks more in Mathematics and 4 marks less in English, the product of their marks would have been 360. Find her marks in two subjects separately.

Q.27
A person standing on the bank of river observes that the angle of elevation of the top of a tower standing on the opposite bank is 60o. When he moves 40 m away from the bank, he finds the angle of elevation to be 30o. Find the height of the tower and the width of the river. (Use √3 = 1.732)






OR


As observed from the top of the lighthouse, 100 m high above sea level, the angle of depression of a ship sailing directly towards it, changes from 30o to 60o . Determine the distance traveled by the ship during the period of observation. (Use √3 = 1.732)
Q.28
Prove that the ratio of the areas of two similar triangles is equal to the ratio of square of 
their corresponding sides.Use the above in the following:


In a trapezium ABCD, O is the point of intersection of AC and BD, AB || CD and  AB = 2CD. If the area of ΔAOB = 84 cm2 find the area of ΔCOD

Q.29
A hollow cone is cut by a plane parallel to the base and upper portion is removed. If the 
curved surface of the remainder is 
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 of the curved surface of the whole cone, find the ratio of the line-segments into which the cone’s altitude is divided by the plane.

OR
A right triangle with sides 3cm and 4cm is revolved around its hypotenuse. Find the volume of double cone thus generated.  
Q.30
If  the  median  of  the  distribution  below  is  32.5,  find  the  values  of x  and y. Also find mean and mode.      

	Class interval
	Frequency

	0 - 10
	x

	10 - 20
	9

	20 - 30
	20

	30 - 40
	12

	40 - 50
	y

	50 - 60
	3

	60 - 70
	2

	Total
	40
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